
5406 5406.5 5407 5407.5 5408
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

4−

3.5−

3−

2.5−

2−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

79−

78.5−

78−

77.5−

77−

us
l_

1X
usl_1X:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

48.2

48.4

48.6

48.8

49

49.2

49.4

49.6

49.8

50

50.2

50.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

42.5−

42−

41.5−

41−

40.5−u
sl

_1
2X

usl_12X:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

137−

136.5−

136−

135.5−

135−

us
r_

1X

usr_1X:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

7.5

8

8.5

9

9.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

231.5

232

232.5

233

233.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

47.5−

47−

46.5−

46−

45.5−

us
r_

12
X

usr_12X:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

18660.5

18661

18661.5

18662

18662.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

3150

3150.5

3151

3151.5

3152

us
l_

co
il3

usl_coil3:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

5165.6

5165.8

5166

5166.2

5166.4

5166.6

5166.8

5167

5167.2

5167.4

5167.6

5167.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

179.5

180

180.5

181

181.5

us
l_

co
il6

usl_coil6:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

7976

7976.2

7976.4

7976.6

7976.8

7977

7977.2

7977.4

7977.6

7977.8

7978

7978.2

us
l_

co
il7

usl_coil7:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

15643−

15642.5−

15642−

15641.5−

15641−us
r_

co
il1

usr_coil1:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

2577.5−

2577−

2576.5−

2576−

2575.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

5159.6

5159.8

5160

5160.2

5160.4

5160.6

5160.8

5161

5161.2

5161.4

5161.6

5161.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

281

281.5

282

282.5

283

us
r_

co
il6

usr_coil6:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

35718.5

35719

35719.5

35720

35720.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

293.4−

293.2−

293−

292.8−

292.6−

292.4−

292.2−

292−

291.8−

291.6−

291.4−

291.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

21.5−

21−

20.5−

20−

19.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

314.5

315

315.5

316

316.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

287.8−

287.6−

287.4−

287.2−

287−

286.8−

286.6−

286.4−

286.2−

286−

285.8−

285.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

41−

40.5−

40−

39.5−

39−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

235.5

236

236.5

237

237.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

201.2

201.4

201.6

201.8

202

202.2

202.4

202.6

202.8

203

203.2

203.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

71

71.5

72

72.5

73

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

17−

16.5−

16−

15.5−

15−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

212

212.5

213

213.5

214

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

19

19.5

20

20.5

21

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

14.8−

14.6−

14.4−

14.2−

14−

13.8−

13.6−

13.4−

13.2−

13−

12.8−

12.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6091}



5406 5406.5 5407 5407.5 5408
cyclenum

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

237−

236.8−

236.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

84−

83.5−

83−

82.5−

82−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

1.5−

1−

0.5−

0

0.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

515.5−

515−

514.5−

514−

513.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6091}

5406 5406.5 5407 5407.5 5408
cyclenum

6089

6089.5

6090

6090.5

6091

6091.5

6092

6092.5

6093

ru
n

run:cyclenum {run == 6091}
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